MIHICTEPCTBO OCBITH I HAYKH YKPATHU
CyMcpxuil nep:kaBHHH YHIBEPCHTET

INPOI'PAMA
BCTYNHOIO iCIHTY 3 iHO3eMHOI MOBH NPH NPHIIOMi HA HABYAHHS
A8 3000y TTS cTyneHs «xokTop ¢irocodiinn

1 3AT'AJIBHI ITIOJIOYKEHH S

1.1 Meroro BCTynHEX BHIpOOyBaHb BCTYIHHKIB Ha 0a3si ocBiTHRO-KBamidikamiiiHoro pisus
«MaricTp» mus 3700yTTS OCBITHBO-HAYKOBOTO PiBHA «IOKTOp Gimocodii» € BH3HAYEHHS piBHA
3aCBOEHHS MOBHOTO MaTepially Ta piBHs chOpMOBAHOCT] iHITOMOBHHX KOMIIETEHIIIH 3 PI3HUX BH/IIB
MOBJICHHEBOI JISUTBHOCTI 3 METOIO iX BUKOPHCTAHHS ISl OTPUMAHHS BHINOIO PiBHS OCBITH.

1.2 ITinroToBKa i CKIamaHHS BCTYIHOTO BHNPOOYBaHHS 3 IHO36MHOI MOBH 3IiHCHIOETHCS
3TiTHO 3 PO3KIAIOM, 3aTBepIkeHHM pekTopom Cym/TV.

1.3 Pobota npeaMeTHOT KOMicii IPOBOIHUTECS Y BCTAHOBIICHI TEPMiHH.

1.4 Jlo cknanasHs BCTYNHHX BHIpPOOYBaHB JOITYyCKAIOThCS OCOOH, SIKi MAIOTh JHUIUIOM IIPO
BHINY OCBITY (creniaiicT abo marictp).

1.5 Cknagannd BCTymHOrO BHOpPOOyBaHHS 3 iHO3eMHOI MOBH 3[iHCHIOETBCA Y (opmi
NHCBMOBOI0 TECTYBAaHHA. Y pa3i CyMHiBY IIOJ0 po3yMiHHS copMysIbOBaHUX Y Oinieti iHCTpyKIii
BCTYIIHHK Ma€ IIPaBO 3BEPHYTHCS 3a IMOSCHEHHSIMH 10 WISHIB KOMICii.

1.6 Yac BukoHaHH: TecTy cKananae 80 xBuauH.

1.7 IlpotaroM BCTYDHHX BHIPOOyBaHB BCTYIHHKM HE MAalOTh IIpaBa KOPHCTYBATHCS
MOOINEHHMH TenehOHaMH, INIAHIIETaMH Ta iHIMHMHA eIeKTPOHHHMH 3aco0aMHu 3B’ 3Ky Ta 00pOOKH
indopmanii, iHmmIME HOCciaME iHGOpMaii.

1.8 3aBganHa  BcTymHOro BHIpoOyBaHHS 3  iHO3eMHOI MOBH  0asyloThes Ha
3arajbHOEBPOIICHCEKUX BUMOTaxX Ta KpPHTEPiAX, BCTAHOBJIEHHX JJIS PiBHIB BOJIOMIHHS MOBOIO B2 Ta
B2+ (HesanexHWH KOpDHCTyBa4), sSIKi BBa)XKAIOTHCS MIHIMAEHO TIPHHHATHHMH IS OCBITHBO-
kBai¢ikanifHOro piBHA «MaricTp» 3rigHO 3 3araJbHOEBPONEHCEKHMH PexoMeHIaliaMi 3 MOBHOT
OCBITH. 3aBJaHHA BCTYIHOTO BHNPOOYBaHHA € MiHCHHMH IJs BCTYIy B acIipaHTYpy Ha BCi
CIIemiaIbHOCTI.

1.9 3micT 3aBmaHb Ui KOHTPOJIO piBHA CGHOPMOBAHOCTI IHIIOMOBHOI KOMYHIKATHBHOI
KOMIIETEHTHOCTI € yHi(ikoBaHHM 3a BHOAMH i ()OpMaMH, BPaxOBYE OCOOJHBOCTI aHIIIHCHLKOI,
HiMenbKoi, (ppanmny3bKkoi MOB, ITOJAE€TECS HA ABTEHTHYHHX 3pa3sKax JITEPATypHOTO MOBJICHHS,
npuitaaToro y Bemukiit Bpuranii / CILIA, Himewunni, @paHuii BiqnosinHo.

1.10 O6’exTaMH KOHTPOJIIO € YHTaHHA SK BHJ MOBJIEHHEBOI NiSBHOCTI, JEKCHYHHH i
rpaMaTHYHHE ACIEKTH 1HIIOMOBHOI KOMYHIKaIlii (BAKOPHCTaHHS MOBH).

1.11 YMiHHS  BCTYNHHKIB  TIEPEBIpSIOTBCH 3@  JIONIOMOTOIO  33aKpHTHX  3aBIaHb
(anmbTEpHATUBHOIO Ta MHOXKHHHOIO BUOODY, 3aB/IaHb Ha 3iCTABJICHH).



2 AHOTAL TA TUITOBI IIUTAHHSL 3 JUCUMIUIHY, IO BHHOCUTHCS HA
KOHTPOJIBLHWIA 3AXI

2.1 IlepeJtix NPOrpaMHHX NHTAHL N0 BCTYIHOTO icOMTY 3 aHIJICBKOI MOBH

Mopdonoria

Imennuk. BxxuBanas IMEHHEKIB ¥ OHHHMHI Ta y MHOKHHI. BHKOpUCTaHHA IMEHHHKIB y poii
NpHKMETHHKIB. [[pHCBifiHKH BiTMiHOK.

Aptuxae. OCHOBHI BHNAJKH BXKHBAHHS O3HAYEHUX 1 HEO3HAUeHHX apTHKIIB. Hyneosui
apTHKNb. APTHKIE 3 BIACHUMH Ha3BaMHU.

Hprxmernnk. Bxupannsa npukMeTHEKiB. CTymeH] TopiBEIHHS NPHKMETHHKIB.

Zadimennnk. Buou zaliMeHHuKis. Bixupanns saliMeHHMKIB.

Niccnoso. Bumo-uacori GopMH Ai€cioBa B aKTHBHOMY Ta IACUBHOMY CTaHi. YMOBHI pedeHHS
(0, 1, II, III Temis). Hakasosuii crmoci6 aiecnis. [lpasunsri Ta HenpaBmieHi Xiecnora. besocobosi
dopmu miecnosa Ta 1x xoHCTpYKUil. MonansHi miecnosa. Participle I, Participle II.

®pasosi miecnosa 3: get, be, look, keep, go, come, take, run, turn, call, break, give, put, make,
clear, cut, fall, hold, let, hand. Ctpykrypa to be going to do smth.

Ilpuciaisuuk. Bxupanss cTynesis HOpiBHAHHA mpHCIiBHuKIB. [IpHciiBruKya Miclg i gacy.
OcuosHi nprcnieuikosi 3sopotu. Quantifiers/Intensifiers (quite, a bit, etc.)

Yucenipuuk. KinskicHi Ta MopsaKoBi YHCIIBHHKH.

Ipuiimennuk. Buxy npuiiMeHHUKIB. Bxusanss npuiiMeHHUKIB.

Yacrka. OcobireocTi BIKHBAHHS to 3 Jl€CIIOBaMH.

Cronyunuky. BXHBaHHs CHONYUHHKIB CYpSIHOCTI Ta TiAPSOHOCTI.

Cunrakenc

CTpykTypa pi3HHX THIIB pedeHb (CTBep/KYBaNbHi, 3aNlepeyti, MATATbHI). IIpoCTi peyeHns.
Cxnamai pedenns (cxnamuocypsamui i cknamgomimpsnui). IIpsMa 1 HenpsMa MoBa. Y3TOMKEHHS
JUECTIBHAX YaciB ¥ CKJIATHOMIIPANHAX PEYSHHAX.

C1oBOTBOpEHHS

CroBa, yTBOpeHi Bijl BIIOMHX KOpEHIB 33 JMOIOMOroI0 cybikciB IMEHHHKIB, IPHKMETHHKIB,
npHCITiBHUKIR 1 JiecniB; npedikciB mpuKMeTHHKIB i giecnis.

2.2 Ilepentik pOrpaMHHAX OUTAHS N0 BCTYHHOIO icIUTY 3 HiMeUbKoi MOBH

Mopdonoerisa

Apruris. O3navennii aptuxis. HeosHauennit apruiorn. HynpoBui apTHKIIE.

Imennuk. Pix imenankir. Onuuea i MEOXMHEA iMeHHuKiB. CHIIBHA, crabKa, Xkigo4a BiiMiHa
iMEHHHKIB.

Ipuxmeraux. Cunbua, crabka, MilmaHa BigMiHa nNpuxkMeTHHKIB. CTyNeHI IOPIBHSHHS
NPHKMETHHKIB.

Ipucaipank. [IpUCIiBHEKE MicId, Yacy, OPHYMHM H METH, MONAIBHI, 3aiMEHHHKOB]
npucriBHuaKd. CrylieHi TOPiBHAHHS IPUCTIBHUKIB.

3afimennnkn. OcoboBi, IpUCBiiiHi, BKa3iBHI, IHTANLHI, BITHOCHI, HEO3HAYEH] 3alMEHHUKH.
Bzaemunii, 6e30c000BHH 3aiiMEHHEK.

Yucnisuuk. KinpkicHi i mOpaaKoBi YHCTIBHAKH.

IIpuitMennuk. [[puAMEHAMKH, LIO KepyloTh POAOBMM BiaMinkoM. IlpuiiMeHHMKH, IO
KEPYIOTh JABANGHEM BigMitkoM. [IpHAMEHHHKH, INO KepylOTh 3HaXifHHM BIIMIHKOM.
TpriiMEHHHKH, IO KEPYIOTH JABATBHHEM 1 3HaXiTHUM BiAMIHKOM.

Niecnoso. CunpHi, cnabki, HenpaBubHi Aiccnosa. MoganeHi fiecnosa. 3B0POTHI Ai€CiOBa.

VTBOpeHHS 1 BXMBaHHS dYacoBHX (opM miecni: Priéisens, Préiteritum, Perfekt,
Plusquamperfekt, Futurum I.

Macusuuii cran aiecnosa: Passiv.

Haxaszopuit cioci® miecHis.

Heosnauena dopma (Infinitiv) 3 wactkoro zu i 6e3 Hel. [ndiniTusni 380poTH UM ... ZU, (an)statt
... ZU, ohne ... zu.

Tienpuxmernuxu: Partizip I, Partizip 1.



Cunrakcue

Peyennsi. Posmnosifse, mHMTanbHe, CIOOHYKAIbHE pedeHHs. Wienn peuexHs. [lpamuit i
3BOPOTHHH MOPANOK CIIiB.

Cxnansocypsj(He peueHHs 3i CIONYYHHKAMH CYPSOHOCTi, SKi He BIUIMBANOTH HA MOPANOK
ciuis: und, aber, oder, denn, sondern, Ta CHONYYHHKaMHM 1 CIIONYYHHKAMH-TIPHCIiBHHKAMH, AKi
MOXKYTH BIJIMBATH HA MOPsAOK cimiB: darum, trotzdem, dann, deshalb.

Cknapgonijipsifine peyenus.

CaoBOTBODEHHSA

Tunosi cydikcn iMEHHHKIB YONOBIUOT0, XKIHOYOro, CEpeHBOro pody.

2.3 Ilepetik XpOrpaMHHX HHTAHL J0 BCTYNHOIO ienUTy 3 paHny3sKoi MOBH

Mopdroaoris

Jiecnono. Yacosi hopmu (Présent, Imparfait, Futur Simple, Passé Composé, Plusque Parfait,
Passé Simple): BEIAAKHA BKUBAHHS, IPHCTIBHHKH T2 MPHCITIBHAKOB] CHOTYUESHHS 4acy(BXHBAHHS 3
OCHOBHHMM HYacOBHMH (popMaMu (PaHIy3KOr0 MI€CNOBA); Y3TOIKEHHS 4aciB y Hempamid Mosi;
macupHui crad (Forme Passive).

ImennukM. YTBOPEHHS MHOMXHHH.

3ajimennnkn. Oco6oBi, NpHCBilii, 3B0poTHI, HEO3HAYCH], BXA31BHI;

IIpuxmeranku. Crynesi NOpiBHAHHA — IPHKMETHHKIB;, BXHUBAHHA nopiBngnx
KOHCTPYKIUH.

Npucuisankn, ITpucnisauku Micug, cmocofy nil, Wacy, MipH Ta CTymeHs; CTyIeHi
IOPiBHAHHA NMPHCIHBHHKIB.

Hpuiimesauxn. TIpuiiMEHHAKA Yacy, MICIyl, HAnpaMy, BIKHBAaHHA NpHHMEHHHKIB 3
IiecIoBaMH, IPUKMETHHKaMH Ta IMCHHHKaMH.

CrnonyuHHKH.

CuaTakcuc

Peuennst. [Topsmox chiB y po3LOBIAHOMY pedcHHI; (GOpPMH YTBOPEHHsS CTBEp/UKCHHS,
3aIIepeycHHs, ITATAHHEI; TUTAIBHI CJI0Ba, KOPOTKI Bixnoeixl; milicauit cnoci6 (Indicatif), nakazopuit
croci6 (Imperatif), ymosnuit crioci6 (Subjonctive) — BHCHOBIEHHS TPHITYITEHHS Y TENEPILIHLOMY,
MalifyTHEOMY Ta MEHYJIOMY (TPH THIIH YMOBHUX PEUeHb).

C10BOTBOpEHHS

Hait6inpm nommpeni cydikcs Ta mpedikey IMEHHUKIB, IPHKMETHHKIB Ta Ji€CIIiB.

3 CTPYKTYPA EK3AMEHAITMHAX 3ABJAHDL

Tect MicTHTE 50 32BNaHE 3aKPHTOL (POPMH Ta CKIANAETHCA 3 JBOX YaCTHH: OXHA YaCTHHA —
YHTAHHS, IPYra 9aCTHHA — BHKOPHCTAHHS MOBH.

3.1 Ynrauus (3pa3kH 3aBXAHb B J0JATKAX)

Mera - BU3HAYHTH piBeHb ChOPMOBAHOCTI BMIiHb aBiTyPi€HTIB YHTaTH i PO3YMiTH ABTCHTHYHI
TEKCTH 3arabHO-TEXHIYHOTO Ta HAYKOBO-TIOIYSIPHOrO 3MICTY Y BH3HAaUYEHHH IPOMIXKOK Jacy.

V TecTax ONIHIOETHCS PiBEHB PO3YMIHHS TEKCTY, BMiHHS abiTypieHTa y3araibHIOBATH 3MiCT
IPOUMTAHOr0, BHOKPEMIIIOBATH KIIOYOBI CIOBA Ta BH3HAYATH 3HAYECHHS HE3HAHOMHX CJiB 3a
KOHTEKCTOM a00 CIIOBOTBOPYHMH €JIEMEHTAMH.

Bunu 3asfaHs:

- pubip oaHiel NpaBWIBHOT BINNOBIAL 3 BOX 200 AEKINBKOX;

- 3iCTABJIEHHS 3arQJIOBKIB 3 ab3anaMu;

- 3aHOBHEHHS IPOMYCKIB PEUeHb / YaCTHH PEUCHE Y 3B’ I3HOMY TEKCTi 32 3MiCTOM.

BeTynHHMKH HOBHHHI BMITH:

- PpO3YMITH 3aranbHAH 3MICT TEKCTY,;

- 3HAXORMTH JeraNeHy indopmauiio mpo ocib, haxTa, momil Tomo;

- pO3YMITH CTPYKTYPY TEKCTY i pO3IIi3HaBATH 3B’ A3KH MK HOTO 4aCTHHAMM.



3.2 BuxopHcTaHHs MOBH (3pa3KH 3aBOAHEL B I0JaTKAX)

Mera - BH3HAYHTH PIBEHSL BOJIOAIHEA MOBHHAM MaTepialoM.

Y Tectax OIHIOETHCS PiBeHb BOJIOAIHHS JEKCHUHHM 1 IpaMaTHYHMM MarepiamoM, yMiHHS
aHasisysary i sicraBiari indopmaniioo, mobupatu cuHoHiMH, (pa3zoBi iiecioBa BiOmMOBiZHO dO
KOHTEKCTY, PO3YMITH JIOrTYHI 3B A3KH Y TEKCTI.

Bup 3apnaHe: ansTepHATHBHUN Ta MEOKHHHAK BHOID.

BeTynHHKE DOBHHHI BMITH imeHTH(IKYBaTH Ta BHOHpPATH IPAaBHNBHI JIEKCHYHI ONHHUNI Ta
rpaMaTH4Hi KOHCTPYKIIT AT BKHBAHHS B MOBI.

YBAI'A!
Tunu, nocaiooenicme 3aedant ma Kinokicms numanv y 3asoaumnax wacmun I ma IT
MOMNCYMIb IMIHIOGAMUCD, W0 He IMIHIOE 3a2anbHozo obcazy mecmy!

4 KPUTEPII ONIHIOBAHHS BIINOBIAEMR

3aransni BHMOCH

_ Kowmicia onisioe mucEMOBI BIIOBIAI BCTYIHHEKA Ha TecTOB 3aBxaHus 3a 100-200 GansHOIO
mkagon. Berymauky, sxi Habpamu Menme 100 Ganie, OTPHMYIOTH OIIHKY «HE3aJOBIIBHO» i FO
HOZANbIIO] YUacTi y KOHKYPCHOMY BiNGOpi He HomyckaroThes. Berynauky, aKki sabpanu 100 i 6insine
faniB, NOIYCKAIOTECS A0 YYACTI Y KOHKYPCHOMY BinbOpI.

Jing oTpHMAHHS TIO3HTUBHO! OI(HKH i3 BCTYHHOrO BHIIPOOYBaHHS BCTYHHHKY HOTpPIOHO
IpOHTH MiHiMaIBHO-ZOMyCTHMUI TecTOBHI Topir Ha piexi 0,10 abo 10% Bia 3araneHol KinbKoCTI
TecTOBUX GaiiB.

3a KOXKHy NpPaBU/bHY BIATIOBIAb Ha 3aBOAHHS HAPAXOBYIOTHCA TECTOBL Oalm, 3a HEBipHY
BiZmoBie HapaxosyeTses 0 H6anis. Oneprxani TecToBi 6asH 3a BCTYIIHE BHIPOOYBAHHS NEPEBOIATECS
B 100-200 Ganpry mxany (3 OKpyTIEHHAM [0 LLIOTO, 32 MPABHIAMH MaTeMaTHIHOIO OKPYIJICHHS)
33 HACTYIIHUM aJlTOPHTMOM:
O = Omin + K*(N - 1*T), e

O - oninka i3 Berynsoro BrnpoOyBaHas 3a mxaior 100-200 6anis;

Oumin — wMiniManpHa oliHKA i3 BCTymHOTO BHIpoOyBaHHS 3a mkamoro 100-200
Ganis, mpH AKi# BCTYIHHK JNOIYCKAETHCS O y4YacTi y KOHKYPCHOMY
Binbopi;

k — xoedilieHT nepepenenHs TecToBHX GaniB B mkany 100-200 6anis, npu
OEOMY:

k=100/(T*(1 -1))

r — MigimManeHo-JONYCTHMER TecTOBMH 1topir 3 ToumicTio Ao 0,01, sxui
BCTAHOBJIIOEThCA B Meskax Bix 0 mo 1, ane ne mene 0,10;

T —  3aralbHa KilbKiCTh TECTOBMX OaliB, AKY BCTYIHUK MOXE OTPHMATH I
Yac BCTYITHOTO BHIIPOOYBaHHS;

N —  KiNpKicTH TecTOBEX BaliB, AKY BCTYNHHK OTPHMAB IIJ Yac BCTYIHOTO
BHIIPOOYBaHHS.

3a yMOBH AKMIO KiNBKICTH TecTOBMX OaliB, Ky BCTYIHHK OTPHMAaB Iim 4ac BCTYITHOIO
sanpoOysanna (N) cTaHOBHTH «0%, TO BCTYIHHK OTPHMYE OIIHKY «HE3a0BIILHO» 1 I0 MOJANBIIOT
Y4acTi y KOHKYPCHOMY BifioOpi HEe NOMYCKAETHCH.

HapaxyBanHs TecTOBHX 0aJiB

3a KOXKHY IPaBHJIBHY BiZOBIAH HA TECTOBE 3aIMTAHHA HAPAXOBYETBCA 2 TECTOBHX Ganu.
Hesipna signogixs / 6insine oxwiel pinnosizi / xomaol Bigmosini — 0 6anis.



3aranbHa KiTbKiCTh TecTOBHX Oamie (1), Ky BCTYIIHHK MOJXKE OTPHMATH IIiJ Yac BCTYIHOIO
BunpoOysanng — 100 TecTopux Oamm.

KinpxicTh TecToBHX 6aiiB 3a BCTyIHe BUNpoOyBaHHs (N) po3paxoBYeThCS K CyMa TECTOBUX
Oamis.

IloaiTnka mo0 BEAPaBIEHL

Ha apkymi pigmosizelf BHIpaBACHHS He JONYCKAKTHCH. B pasi HagBHOCTI BHIPaBIEHB
BiIMOBiAb HA TECTOBE 3aNHTAHHA HE 3apaXxOBYEThCA.

5 CIIMCOK PEKOMEHJIOBAHOI JIITEPATYPH
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Jonatox A

3paizku ek3aMeHaliHHUX 3aBAAHDL 3 AHCJAIHCLKOI MOBH

READING

TASK  Read the text. Decide if the statements (16} are true or false. Mark the statements as T (True)
or F (Faise).

1 Researchers at the Brown Institute for Brain Science are investigating how movement is controlled
by thinking.
2 BrainGate works by reading brain signals and sending the information to a computer chip, which

changes the signals into movement,
3 A person with BrainGate can use the robotic arm to make coffee and a sandwich.
4 When the technology is available for use, it is likely to cost around $1,000 per person.
5 There is now also a wireless version of BrainGate.
6 Donoghue says it will be possible to make the perfect soldier using this technology.

Mind control

Imagine looking at something and being able to move it just by using your brain! That is exactly what
the new technology called BrainGate can do — with the help of a robotic arm, anyway.

BrainGate is the idea of Professor John Donoghue and his team of researchers at the Brown Institute
for Brain Science, in Providence, Rhode Island, USA, who investigate how humans change thoughts in the
brain into movements. BrainGate is attached directly to the brain. First of afl, gold wires are put into the part of
the brain that controls movement. These are then connected to a small computer chip which is just a few
millimetres in size. When the person thinks about different movements, this creates electrical signals, which
are picked up by the chip. After this, the signals that are created by the brain are sent back to a computer,
which changes the signals into movements. Finally, the computer uses the robotic arm to carry out these
movements. BrainGate can already be used to write an e-mail, operate the TV remote control or even play
computer games, just by brain power.

The technology is still in the early stages of development but it has already cost millions of dollars to
develop and when it is available for use, it will probably cost thousands of dollars per person. There are still
many challenges ahead for Donoghue and his team. They are currently planning a mini wireless version of the
device, which will allow people to be connected to the computer at all times. Donoghue also dreams of using
this technology to help disabled people who can't move their arms and legs. He plans to connect the brain
device directly to their own paralysed limbs. This will mean that the person can control their own body again,
without relying on a robotic arm. In the near future, he would like to see disabled people feed themselves again
and maybe even stand up using BrainGate.

Clearly, this research could change the lives of disabled people but they are not the only ones who
are interested in it. The military think it could be very useful, too. It is easy to understand why scientists might
be worried about how thought-controlled machines could be used by the military.

TASK Read the text. Choose the most suitable heading from the list (A — G} for each part of the text
(1 — 6). There is one extra heading which you do not need to use.

Global English and the English language native speakers.

Typical violations of standard English grammar in international communication.
The role of territorial variants of the English language.

A new international attitude to the English language.

Native and non-native speakers of English in communication.

English is the language of international business.

Different aims of communication and the problem of correctness.

OTMmMOoCOWD

Whose Language?

1 How many people can speak English? Some experts estimate that 1.5 billion people —around
one-quarter of the world's population — can communicate reasonably well in English. Never in recorded history
has a language been as widely spoken as English is today. The reason why millions are learning it is simple:
it is the language of international business and therefore the key to prosperity. It is not just that multinational



companies such as Microsoft, Google, and Vodafone conduct their business in English; it is the language in
which the Chinese speak to Brazilians and Germans to Indonesians.

2 David Graddol, the author of English Nexf, says it is tempting to view the story of English
simply as a triumph for its native speakers in North America, Britain and ireland, and Australasia ~ but that
would be a mistake. Global English has entered a more complex phase, changing in ways that the English-
speaking countries cannot control and might not like.

3 An important question one might ask is: whose English will it be in the future? Non-native
speakers now outnumber native English speakers by three to one. The majority of encounters in English today
take place between non-native speakers. According to David Graddol, many business meetings held in English
appear to run more smoothly when there are no native English speakers present. This is because native
speakers are often poor at ensuring that they are understood in international discussions. They tend to think
they need to avoid longer Latin-based words, but in fact comprehension problems are more often caused by
their use of colloquial English, especially idioms, metaphors, and phrasal verbs. On one occasion, at an
internationa! student conference in Amsterdam, conducted in English, the only British representative was
asked to be ‘less English’ so that the others could understand her.

4 Professor Barbara Seidlhofer, Professor of English and Applied Linguistics at the University
of Vienna, records and transcribes spoken English interactions between speakers of the language around the
world. She says her team has noticed that non-native speakers are varying standard English grammar in
several ways. Even the most competent speakers sometimes omit the ‘s’ in the third person singular. Many
omit definite and indefinite articles where they are required in standard English, or put them in where standard
English does not use them. Nouns that are not plural in native-speaker English are used as plurals by non-
native speakers (e.g. ‘informations’, ‘knowledges', ‘advices'’). Other variations include ‘make a discussion’,
‘discuss about something’ or ‘phone to somebody’.

5 Many native English speakers will insist that these are not variations, they are mistakes.
‘Knowledges' and,‘phone to somebody’ are simply wrong. Many non-native speakers who teach English
around the world would agree. But language changes, and so do notions of grammatical correctness. Those
who insist on standard English grammar remain in a powerful position. Academics who want their work
published in international journals have to adhere to the grammatical rules followed by native English-speaking
elites. But spoken English is another matter. Why should non-native speakers bother with what native speakers
regard as correct? Their main aim, after all, is to be understood by one another, and in most cases there is no
native speaker present.

6 Professor Seidlhofer says, ‘I think that what we are looking at is the emergence of a new
international attitude, the recognition and awareness that in many international contexts non-native speakers
do not need to speak like native speakers, to compare themselves to them, and thus always feel ‘less good.’

TASK Read the text. Seven sentences have been removed from it. Choose from the sentences (A - H)
the one which best fits each gap (7 - 7). There is one extra sentence that you do not need to use.

In those days, mohiles were heavy, bulky things.

With cellular phones, a geographical area such as the UK is divided into irregular zones called cells.
For her it was an irreversible move, since her ignorance of that language meant she couldn't work out
how to re-select English.

Even more frightening, they encourage them to compose their own ring melodies.

Only one party could speak at a time, handing over by pushing a little switch.

The beauty of this system is threefold.

But the batteries were massive.

Lastly, because the signals coming from each phone don't carry far, the same frequencies can be
used over and over again across the country, opening the door to millions of users.

Iogmmoc Ok

Mobile phones

The first primitive mobile phones were introduced in the US in 1946. Users had to search manually for
an unused channel before placing a call, then ask an operator to dial their call over the normal telephone
network. 1 Automatic channel-searching arrived in 1964, and these second-generation mobiles allowed
two-way conversation for the first time. 2 Besides, the system, which worked only around large cities
anyway, had too few radio frequencies at its disposal to cope with thousands of subscribers. In 1976, New
York City had just 545 customers, with 3,700 people on the waiting list.

But the introduction of the cellular system made mobiles for everyone a possibility. 3 These




cells may be 80 kilometres across, or less than one kilometre in busy areas. And at the centre of each cell is
a radio {ransmitter/receiver, known as a base station. 4 First, because each phone broadcasts only the
short distance to its nearest base station, it doesn’t have to be very powerful or run off massive batteries. Then,
if you wander into another cell, your call is automatically passed to the next base station. 5

Japan had a system in place by 1979, but it took Britain and the US another four years to introduce
cell phones. 6 Now, the latest models fit in the palm of the hand and have a vast range of features and
functions, but they weigh less than their instruction manuals.

Today the simplest models already offer more services than the average user needs or understands.
Some phones tempt users to play games. 7 instead of looking out of the window, passengers on frains
can now pass the time by navigating between menus, programming hot keys and customising their own
welcome text.

TASK Read the text. For questions 7 — 6, choose the best answer (A, B, C, or D).

The robots are coming - or are they?

Artificial Intelligence, or Al, is different from most technologies in that scientists still understand very
litte about how intelligence works. Physicists have a good understanding of Newtonian mechanics and the
guantum theory of atoms and molecules, whereas the basic laws of intelligence remain a mystery. But a
sizeable number of mathematicians and computer scientists, who are specialists in the area, are optimistic
about the possibilities.

Over the years, various problems have impeded all efforts to create robots. To attack these difficulties,
researchers tried to use the 'top-down approach', using a computer in an attempt to program all the essential
rules onto a single disc. By inserting this into a machine, it would then become self-aware and attain human-
like intelligence. In the 1950s and 1960s great progress was made, but the shoricomings of these prototype
robots soon became clear. They were huge and took hours to navigate across a room. Meanwhile, a fruit fly,
with a brain containing only a fraction of the computing power, can effortlessly navigate in three dimensions.
Our brains, like the fruit fly's, unconsciously recognise what we see by performing countless calculations. This
unconscious awareness of patterns is exactly what computers are missing. The second problem is robots' lack
of common sense.

Because of the limitations of the top-down approach to Artificial Inteffigence, attempts have been made
to use a 'bottom-up' approach instead - that is, to try to imitate evolution and the way a baby learns. There
appeared an idea of tiny 'insectoid' robots that learned to walk by bumping into things instead of computing
mathematically the precise position of their feet. Today insectoid robots are on Mars gathering data for NASA.
For all their successes in mimicking the behaviour of insects, however, robots using neural networks have
performed miserably when their programmers have tried to duplicate in them the behaviour of higher
organisms such as mammals.

There are people who believe that eventually there will be a combination between the top- down and
bottom-up, which may provide the key to Artificial Intelligence. The computer expert Hans Moravec thinks that
in the future robots will be programmed with emotions as emotions are vital in decision-making. There is no
universal consensus as to whether machines can be conscious, or even, in human terms, what consciousness
means. Robots might eventually attain a 'silicon consciousness’. They, in fact, might one day embody an
architecture for thinking and processing information that is different from ours - but also indistinguishable. f
that happens, the question of whether they really 'understand' becomes largely irrelevant. A robot that has
perfect mastery of syntax, for all practical purposes, understands what is being said.

1. How is Artificial Intelligence different from maost technologies?
A inunderstanding Newtonian mechanics
B in the absence of clear understanding of intelligence functioning
C in mathematical calculations
D in a better understanding of the quantum theory of atom

2. Not all scientists believe that Al will eventually be developed but ...
A most technologists do.
B a great number of computer scientists do.
C all physicists do.
D all biclogists do.

3. The way leading scientists to creating robots ...
A has not been started yet.



B was not impeded by anything.
C had a number of obstacles on it.
D was clear and triumphant.

4. What insect proved the superiority of natural intelligence over artificial intelligence?
A abee
B adragon fly
C afruit fly
D a spider

5. The insectioid robots were successful in ...
A mimicking the behaviour of insects.
B duplicating the behaviour of mammals.
C thinking and processing information.
D imitating human emotions.

6. A robot might be hoped to understand human speech if ...
A he has a perfect mastery of syntax.
B he has human-like emotions.
C he has human-like common sense.
D he becomes self-aware.

USE OF ENGLISH

TASK Read the text. Choose the answer (4, B, C, or D) which best fits each space (T - 15).

A water crisis

The Sahara's meagre resources are being plundered 7 the present day. This is shown most clearly in
the dramatic fall in the region’s precious water reserves. The rock is of a type which hinders easy underground

storage 2 the water supply depends on rainfall. This being so, it is easy to understand why it varies.
3 Jthe d of the situation goes far § mere seasonal changes.

There is one district where observations go 6 at least 125 years. Here it is known that wells of the
balance beam type were once used in cultivated areas. This way of drawing water is intended for the 7

of gardens and small plots and works only if there is water not more 8 about five metres 9 the
surface. Today, though, not one well of this type exists. They have all been replaced by wells from 70

the water has to be raised by draught animals, 771 it is now 25 metres down. Here, then, the water level
has evidently dropped by 20 metres in little over a century.

in a classic example of a vicious circle, 12 of water has led to the digging of more wells to save the

flocks and birds. As these have been deepened the water supply has been further depleted. This has resulted
in soil erosion which then dries out the land stitl further.

The Alr region was once regarded as the Switzerland of Africa because of its temperate climate. It was criss-
crossed by valleys filled with palm trees and was thronged with wildlife. Nowadays, though, there are only a
third of the palms which existed there at the turn of the century. The amount of wildlife has shown a 13

fall. So, too, has the number of human beings who can now survive in the area. Thisis highly 14 _____ina
world where the overall 75 is growing rapidly. We cannot afford to lose fertile land.
1. Aupto B from C right to D since
2. A such B so C as D then
3. A although B evenso C however D therefore
4. A seriousness B seriously C serious D seriosity
5. A forward B above C over D heyond
6. A forth B back C far D to
7. A irrigated B irrigate C irrigation D irrigating
8. A that B than C from D of
9. A over B above C between D below
10. A that B which C what D whose
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11. A because of B thus C because D instead

12, A shorten B shortage C shortness D shortly

13. A proportion B portion C proportionate D proportionately
14. A dangerous B danger C dangerously D endanged

15. A populace B population C populate D popular

TASK _For questions 1 — 10 decide to which part of speech each of the given words belongs. Circle
the letter corresponding to the appropriate part of speech.

NOUN Verb Adjective
A B Cc

adherent
commemorate
conceitedness
deprivation
embarrassment
harmless
rigorous
sequence

. simultaneous
70. threaten

NSO OMR
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TASK For questions 71— 10, choose the answer (A, B, C, or D} which best fits each gap.

1. The ancient Romans central heating.

A believe to invent C are believed to invent

B will believed to invent D are believed to have invented
2. ‘ls Alana coming this evening?’ ‘No, she at home with the kids.’

A staying B stays C is staying D has been staying
3. We missed part of the concert because it when we got to the hall.

A started B had started C hadn’t started D has started
4. Thathouse for more than two years. | wish somebody would buy it!

A is for sale B was for sale C has been for sale D was being for sale
5. }can't see you tomorrow afternoon. | a check-up at the dentist's.

A ’ll have B 'm having C have D am going to have
6. This be your book. It's got your name on it.

A can B must C perhaps D may
7. Imagine you have a superpower, which one would you choose?

A could B would C can D might
8. The experiment under strict medical supervision.

A we carried out B was carried out C have been carried out D was carrying out
9. I'm not surprised your camera isn’t working. 1t out in the rain!

A shouldn't have left B shouldn't have been left C shouldn'tfo be left D should be left

10. I'd like you to at the meeting of the Travellers Club.
A tell B talk C speak D say

11



Homatox b
3pa3kHu ek3aMeHaNIHNX 3aBAAHb 3 HIiMEeNLKOI MOBH

LESEVERSTEHEN

AUFGABE 1
Lesen Sie den Text. Welche der Aussagen (1-5) ist richtig (R) und welche ist falsch (I)?

Vera hatte im Winter einen Unfall.

Vera spielt seit ihrer Kindheit Tischtennis.

Vera hat mehrere Lieblingssportarten,

Veras Schwester organisiert einen Laufireff

_Mit dem Bus ist Vera schneller an der Uni als mit dem Fahrrad.

Hallo Carina,

endlich habe ich Zeit, dir zu schreiben. Ich hoffe, du hast dich in London schon gut eingelebt und ein paar
Freunde gefunden — auch wenn ich es schade finde, dass wir uns jetzt nur noch in den Semesterferien sehen kdnnen.

Bei mir ist so weit alles klar, ich habe dieses Semester einige spannende Seminare belegt und konnte mich in
den letzten Wochen gut auf das Lernen konzentrieren. Und rate mal, warum? Ich habe mir nach Silvester beim Skifahren
das Bein gebrochen und hatte vier Wochen einen Gips. An die Uni konnte ich zwar gehen, aber ansonsten war ich die
meiste Zeit zu Hause.

Seit filnf Wochen bin ich nun wieder ohne Gips. Zuerst war es komisch, weil meine Muskeln schon schwicher
geworden waren. Das hat mich doch etwas schockiert und ich habe beschlossen, dass ich nun endlich Sport machen werde
- 30 wie ich es schon lange vorhatte.

Nach einigen Wochen Krankengymnastik darf ich nun endlich Sport machen. Mein Problem ist nur, dass ich
noch nicht weif, welcher Sport der richtige flir mich ist. Als ich klein war, habe ich gern Tischtennis gespielt, aber ich
glaube, ich kann das gar nicht mehr. Joggen finde ich allein irgendwie langweilig. Meine Schwester hat mir von einem
,Lauftreff* erziihlt, Alle knnen mitmachen, egal wie sportlich man ist. Man lduft zweimal in der Woche gemeinsam und
Ziel ist, dass man nach einem Vierteljahr Training zehn Kilometer schafft. Meine Schwester hat das letztes Jahr gemacht
und ich wiirde das auch gern probieren!

AuBerdem fahre ich jetzt wieder regelmdBig mit dem Fahrrad zur Uni und schon nach zwei Wochen
Fahrradfahren fithle ich mich fitter. Ich muss zwar frither aufstehen, aber trotzdem bin ich dann an der Uni wacher als
nach der Busfahrt. Zum Gliick war Thomas schon immer sportlich. Er freut sich, dass er endlich eine sportliche Freundin
hat und wir bald zusammen laufen kénnen, wenn ich etwas besser geworden bin. Das hilft mir, nicht so schnell
aufzugeben. Fiir deinen néichsten Besuch denke ich mir ein schénes Sportprogramm aus — einverstanden?

Schreib mir bald!

Vera

AUFGABE 2

Lesen Sie die Uberschriften (A-F) und die Kurztexte (6-10). Welche Uberschrift passt zu welchem
Kurztext? Eine Uberschrift ist iibrig.

A Fachschule fiir einen anspruchsvollen Beruf.

B Musical-Unterricht fur talentierte Jugendliche.

C Mehr Informationen fiir Midchen bei der Berufswahl.
D Lustige Pritfung nach dem Abitur.

E Weitgehende Pline der Gymnasiastin.

F Praktikum im Betrieb der Eltern.

6 Kaum eine groBere Stadt ohne Musical - so sieht es zurzeit in Deutschland aus. Kein Wunder, dass viele
Jugendliche von einer Bithnenkarriere triiumen. Im Nitrnberger Verein “Musical Bahnhof* k&nnen sie den ersten Schritt
machen. Junge Talente, die Musical-Darsteller werden wollen, bekommen dort Unterricht in Gesang, Tanz und
Schauspiel. Eine Garantie filr die Karriere bekommt man allerdings nicht. Zu viele Bewerber stehen vor den Toren der
Schauspielschulen. Harte Eingangspriifungen sind die Regel. Doch trdumen ist ja nicht verboten.

7 Anna besucht die elfte Klasse des Bach-Musikgymnasiums in Berlin. Sie mdchte spéter professionelle
Musikerin werden. Ihre Chancen stehen gut. Die Schule bietet den Schiilern eine deutschlandweit einzigartige
Ausbildung. Hochschulprofessoren der Berliner Musikhochschulen unterrichten hier. Auf dem Stundenplan stehen
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Klavier und ein weiteres Instrument nach Wahl, Musiktheorie und Gehdrbildung. Filr Anna ist die Ausbildung im Bach-
Gymnasium sehr wichtig, Nach dem Abitur méchte sie ein Gesangstudium in den USA beginnen. Sie war schon auf
Konzertreisen in Lissabon, in Israel, in Ungarn und in anderen Lindern unterwegs.

8 Eva, 19, lernt, wie man Geigen baut. Mit ihr besuchen 45 junge Leute eine Fachschule flir
Musikinstrumentenbau in Klingenthal. Diese Schule bildet ihre Schiiler in drei Jahren im Bau von Geigen, Mandolinen
oder Akkordeons aus. Die Schiller benttigen Kreativitit, Musikalitit und handwerkliches Geschick. Zum Herstellen einer
Geige werden Handwerkstechniken genutzt, die bereits Jahrhunderte alt sind. Der Bau umfasst rund 500 Arbeitsglinge
und dauert ca. I-3 Monate.

9 Jedes Jahr nach den Abiturpriffungen ist es soweit. Mit einem witzigen Wettbewerb beschlieBen die
Abiturienten ihre Schulzeit. Die Teams miissen zahireiche Aufgaben losen. Jede Sekunde ist kostbar. Doch es geht nicht
darum, wer am schnellsten laufen kann. Schnelles Denken, gute Ideen und Kreativitiit sind gefragt. Es gibt viele Ritsel
und sportliche Aufgaben. Auch das gerade gelernte Abiturwissen ist noch einmal niitzlich. Ein Test mit Wissensfragen
iiber die Stadt, die Schule und Ficher wie Biologie und Latein bringt wichtige Punkte.

10 Wer weifl schon, was Vater und Mutter bei der Arbeit machen? Bei der bundesweiten Aktion ,,Girls' Day"
erhielten Midchen einen Tag schulfrei. Sie konnten einmal ihren Eltern im Beruf tiber die Schulter schauen. Stolz
présentierten Véter und Miitter ihren Tochterchen ihren Arbeitsplatz und erklérten ihnen genau, womit sie ihr Geld
verdienen. Das Ziel dieser Aktion: Die Schiilerinnen sollten sich die Betriebe anschauen, um sich Ideen fiir ihre
Berufswahl zu holen. Denn immer noch wihlen viele Madchen typische Frauenberufe, obwohl sie bessere
Schulabschliisse als Jungen haben.

AUFGABE 3
Lesen Sie den Liickentext. Stellen Sie die fehlenden Siitze (4 — F) ein. Ein Satz ist itbrig.

Eine Dauer von zwei bis drei Monaten ist gut.

Praktiikanten sollen nur wenige Fragen stellen.

Trotzdem sollte ein Praktikant aber bezahlt werden und die Bezahlung sollte fair sein.

Denn nur so kann man zeigen, dass man betreut ist, Verantwortung zu iibernehmen und eine Aufgabe von
Anfang bis Ende zu i6sen.

Obwohl man in den Medien oft das Gegenteil gelesen hat, kénnen Praktika also durchaus sinnvoll sein.
Denn oft setzen Firmen Praktikanten nur als billige Arbeitskrifte ein, olme ihnen eine Chance auf einen
festen Arbeitsplatz zu geben.

mE QW

Hilft ein Praktikum, eine Stelle zu finden?

Man hast es immer wieder in den Medien gelesen und gehért: Wenn man eine Stelle sucht, hilft es kaum, ein
Praktikum zu machen. 11 Aber stimmt das wirklich? Sind Praktika tatsfichlich so schlecht und aussichtslos? Neue
Zahlen zeigen, dass in den letzten Jahren hierzulande immerhin 300000 offene Stellen mit ehemaligen Praktikanten
besetzt worden sind. Mit anderen Worten: 300000 Menschen haben eine Stelle gefunden, weil sie ein Praktikum gemacht
haben.

Damit man seinem Ziel, nach einem Praktiknm eingestellt zu werden, n#her kommt, sollte man allerdings einige
Dinge beachten:

1)  Es empfiehlt sich, als Praktikant ein eigenes Projekt zu betreuen. 12

2) Natiirlich braucht jede Praktikantin und jeder Praktikant Hilfe und Unterstiitzung von den Kolleginnen und
Kollegen. Trotzdem sollte man versuchen, wihrend seines Praktikums moglichst selbststéndig zu arbeiten. Nur so sehen
die anderen, dass man ein ,,Gewinn® fiir die Firma oder fiir das Team ist.

3) Um ein Projekt tibernehmen und selbststindig arbeiten zu konnen, braucht man Zeit. Deshalb sollte ein
Praktikum nicht zu kurz sein. 13 So hat man die Moglichkeit, sich einzuarbeiten und nach einer bestimmten Zeit
effektiv mitzuarbeiten.

4) Voraussetzung fiir ein gutes Praktikum ist es auch, dass mindestens ein Mitarbeiter der Firma fiir den
Praktikanten verantwortlich ist: Es sollte also unbedingt einen festen Ansprechpartner fiir den Praktikanten geben, der
diesen betreut und Fragen zuverldssig beantwortet.

5)  Wer ein Praktikum macht, méchte vor allem Berufserfahrung sammeln. Der Verdienst ist also nicht das
Wichtigste dabei. 14 Am besten erkundigt man sich vor dem Praktikum, welche Bezahlungen der Branche itblich
ist.

13



Praktika, das zeigt iibrigens der Bericht auch, helfen nicht nur jungen Leuten beim Berufseinstieg. Auch fiir die
30- bis 40-Jshrigen, die schon berufstitig waren und sich neu orientieren miissen oder mochten, weil sie ilire Stelle
verloren haben oder den Arbeitsplatz wechseln wollen, bieten sie eine gute Chance: Fast die Hilfte der ehemaligen
Praktikanten, die eine Stelle bekamen, waren zwischen 31 und 40 Jahre alt.

15 Man sollte allerdings aufpassen, dass man nicht zu viele davon macht: Zwei bis drei Praktika sind
genug, um sich beruflich zu orientieren, erste Berufserfahrungen zu sammeln und diese dann zu vertiefen.

SPRACHEANWENDUNG

AUFGABE 4

Lesen Sie den folgenden Text und entscheiden Sie, welches Wort (A, B, C oder D) in die Liicken 16-30
passt.

Liebe Daniela,

ich habe schon ein ganz schlechtes Gewissen, denn 16
Aber du weiBt ja, wie das ist: Wenn man sich auf eine Priifung vorbereitet, hat 17
seine Hobbys — alles dreht sich nur noch ums Lernen.

Nun habe ich es aber geschafft: Gestern war die Priifung und ich bin zuversichtlich, dass ich sie bestanden habe.
Mein Freund, mit 18 Hilfe es mir Gberhaupt nur moéglich war, diese ganze Zeit zu 19 , hat mich fiir heute
Abend in ein tolles Restaurant eingeladen. Danach gehen wir auch noch tanzen.

In deinem letzten Brief hast du mich gefragt, 20 ich Lust hitte, mit dir zusammen ein Wochenende in
London zu verbringen. Natiirlich habe ich Lust! Nach dem ganzen Stress der letzten Wochen finde ich es super, mal ein
paar Tage lang mit einer Freundin etwas Tolles zu 21 . London ist eine wunderbare Stadt, ich habe schon viele
Berichte dariiber gelesen. Ich wiirde mich 22 besonders 23 die Tate Gallery und das Filmmuseum
interessieren.

Mach 24 einfach ein paar Vorschlige, wann du 25 hast. Ich bin sicher, dass wir 26 auf
ein Wochenende einigen konnen, In der Zwischenzeit drucke ich schon mal ein paar Angebote aus dem Internet aus:
preiswerte Fliige, ein schdnes und glinstiges 27 fiir uns usw. Ich freue mich schon auf deinen néichsten 28

wollte ich dir schon vor zwei Monaten schreiben.
iberhaupt keine Zeit mehr fiir

Herzliche 29 ,
30 Andrea
A B C D

16 auflerdem eigentlich iiberhaupt deshalb
i7 er es man ich
18 der dessen seiner dem
19 {ibersetzen iiberstehen iibertragen iiberlassen
20 dass falls ob wie
21 unternehmen verbringen verplanen kommen
22 ganz recht Zwar nicht
23 auf fiir in mit
24 bestimmt doch sicher Zwar
25 Zeit Sache Glitck Hobby
26 euch sich uns ihnen
27 ‘Wohnung Hotel Platz Ticket
28 Nachricht Brief Mitteilung Gesprich
29 Wiinsche GriiBe Gliickwiinsche Wille
30 meine seine ihre deine

AUFGABE 5

Setzen Sie die entsprechende Priiposition ein. Wiihlen Sie die richtige Variante:

31 das Haus ist ein Garten.

A Vor B Nach C Hinter D Um

32. Setzdich ihn.

A um B bei C neben D von

33. einer Woche habe ich mit ihr telefoniert.

A Uber B Durch C Gegen D Vor
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34. Die Konferenz findet dem Unterricht statt.

A hinter B nach C bei D durch
35. Den heutigen Nachmittag verbringe ich meiner Oma.
A von B seit C bei D aus

36. dem Wald brachie mein Bruder schéne Blumen.

A In B Bei C Mit D Aus

37. Viertel acht sind wir schon in der Schule.

A vor B iiber C hinter D unter
38. Wasser wachsen die Pflanzen nicht.

A Bis B Ohne C Zwischen D Entgegen
39, Am Sonntag gingen wir den Wald.

A in B aus C bei D zu

40. gutem Willen kann man viel machen.

A Durch B Vor C Bei D In
AUFGABE 6

Bestimmen Sie das Geschlecht der Substantive. Achten Sie auf die Bedeutung und auf die Form der

Substantive. Withlen Sie die richtige Variante:

Ne A B C
- {Maskulinum) (Femininum) {Neutrum)

41. { Herbst

42, | Gold

43, | Ukraine

44, | Kino

45. | Universitiit

46. | Museum

47. | Telefon

48. | Entwicklung

49, | Bar

50. | Mikroskop -
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Homatox B
3pa3ky ek3amMeHANIHHHX 3aBAAHbL 3 QPAHNYIBKOI MOBHM

LECTURE

DEVOIR 1

Lisez le texte. Décidez si les phrases (1-5) sont vraies ou fausses. Marquez les phrases comme V (Vrai)
ou F (Faux).

1 La préférance de vacanciers.

2 En France il y a le tourisme d’affaires, le tourisme culturel, le tourisme equestre, ferroviaire, le tourisme industriel
et technique.

3 Les Francais n’aiment pas s’echapper du cadre familier, voir d’autres personnes, decouvrir des pays nouveaux,
4 Reposez et I’histoire.

5 Beaucoup de Francais disposent 6 moins de conges annuels.

Les Francais en vacances

Les vacances, les « vraies » vacances, c’est partir. On dit « partir en vacances ». Partir en vacances c¢’est changer
de climat, s’echapper du cadre familier, voir d’autres paysages, d’autres hommes. C’est vivre autrement, decouvrir des
horizons nouveaux, des amities nouvelles. Tls n”ont cesse depuis de gagner de nouvelles batailles : une troisieme semaine
en 1956, une quatrieme en 1969, une cinguieme en 1982. Beaucoup disposent en fait d’au moins 6 semaines de conges
annuels. Le taux de depart en vacances s’etait regulierement accru.

Pourtant, 43 % des Francais ne partent pas en vacances d’ete au cours d’une annee donnee, et un quart ne partent
jamais. Un vacancier sur dix passe ses vacances d’ete dans sa residence secondaire, tandis que 40 % sont heberges par
des parents ou amis. Un vacancier sur quatre sejourne a I’hotel ou en location. Les adeptes du camping ou du caravaning
sont environ 17 %. L’image symbolique de la mer baignee de soleil reste fortement ancree dans Iinconscient des Francais.

11 s’y ajoute pour les plus jeunes Dattrait des sports nautiques (voile, planche a voile, ski nautique). Plus de 40
% des journees de vacances passees en France se deroulent en Bretagne, sur la cote atlantique ou mediterranneenne.
Pourtant, les Francais se tournent aujourd’hui vers les regions interieures plus accessibles. Les sejours a la campagne sont
en progression (24 % des sejours). Les vacanciers viennent y chercher Ie calme, ’authencite, certains modes de vie oublies
dans les grandes villes. Pour beaucoup de Francais les vacances restent une occasion privilegiee pour se reposer.

D’autres sont au contraire partisans de vacances actives, consacrees a la decouverte, a I’enrichissement
personnel. Le sport occupe la premiere place chez les moins de 40 ans. Beaucoup de Francais souhaitent profiter des
vacances pour enrichir leurs connaissances. Les possibilites qui leur sont offertes sont aussi de plus en plus nombreuses,
que ce soit pour s’initier a 1’informatique, a la pratique d’un instrument de musique ou a la degustation des vins. Les
formules des vacances se sont extremement diversifiees et enrichies, Citons entre autres, le tourisme d’affaires, le tourisme
culturel, le tourisme equestre, ferroviaire, etc... Le tourisme indusiriel et technique connait depuis quelques annees un
developpement spectaculaire. Les sites hydrauliques ou nucleaires sont tres frequentes.

DEVOIR 2

Lisez le texte. Choisissez la rubrique la plus appropriée dans la liste (A - F) pour chaque partie du texte
(6 - 10). Il y a une question supplémentaire que vous ne devez pas utiliser.

Les cadresvprofessions.

Les ouvriers et les conditions de travail.
Chomage en France.

Les travailleurs etrangeres.

L’amelioration de la productivite des entreprises.
La role de paysants.

mHEOO W

Les Francais au travail.
6 La France compte 25, I millions d’actifs. Alors que la population francaise s’est accrue d’un tiers depuis le
debut du siecle, le nombre d’actifs occupes a tres pen augmente. Au total, pres de deux Francais sur trois n’ont pas
d’activite professionnelle : enfants, etudiants, adultes inactifs, chomeurs, retraites et preretraites. Le nombre des
travailleurs etrangers est a peu pres stable : 1,5 millions.

7 Beaucoup d’entre eux sont arrives pendant les annees 60 pour occuper les postes generalement delaisses par les
Francais. Leur nombre a continue d’augmenter, sous ’effet des nouvelles vagues d’immigration. Ils sont deux foix plus
touches par le chomage que les Francais. Sous I'influence de la crise economique, le modele traditionnel de I'activite
professionnelle (emploi stable et a plein temps) a eclate. 11 a laisse place a des formes plus souple et souvent moins stables
d’activite. Un peu plus de 3 mln de salaries occupent des emplois de ce type. La quasidisparition du monde paysan et la
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reduction rapide des ouvriers sont les consequences spectaculaires des mutations recentes de ['economie.

8 La disparition des paysans est celle de toute une classe sociale, de laquelle beaucoup de Francais sont issus.
Les trois quarts des agriculteurs partant en retraite n’ont pas de successeur, du fait des faibles perspectives de revenus de
la profession dans son ensemble. La diminution de I'importance du secteur industriel dans I’economie s’est traduite par
une baisse du nombre des ouvriers. L’amelioration de la productivite des entreprises a permi aussi d’economiser des
emplois de production en faisant appel aux machines et aux robots.

9 Beaucoup d’ouvriers sont devenus employes, avec des conditions de travail beaucoup plus diversifiees. Le
monde du commerce a connu en France un veritable bouleversement. Le transfert de clientele des petites surfaces vers
les grandes surfaces (hypermarches, supermarches) a eu une influence sensible sur les emplois du commerce. Le
commerce emploie 12 % de la population active. La journee de travail commence le plus souvent dans la tranche 7 h 3G |
—~ 8 h 30 pour les salaries et apres 8 h 30 pour les nonsalaries.

10 Les personnels de services et les ouvriers sont ceux qui terminent le plus tard. C’est aussi le cas des cadres
et des membres des professions intellectuelles superieures qui sont souvent des « travaille-tard ». 15 % d’entre eux quittent
leur bureau apres 20 h 30.

DEVOIR 3

Lisez fe texte. Sept phrases ont été retirées de lui. Choisissez parmi les phrases (A - F) celle qui
correspond le mieux a chaque espace (11 - 15). Il y a une phrase supplémentaire que vous ne devez pas
utiliser.

Leur nombre a continue d’augmenter

par la troisieme revolution,

les deux premieres revolutions industrielles.

le nombre d’actifs occupes a treg peu augmente.
Pactivite professionnelle,

La quasidisparition du monde paysan.

HEDO W

Les Francais au {ravail.

La France compte 25, 1 millions d’actifs. Alors que la population francaise s’est accrue d’un tiers depuis le debut
du siecle, 11 . Au total, pres de deux Francais sur trois n’ont pas d’activite professionnelle : enfants, etudiants,
adultes inactifs, chomeurs, retraites et preretraites. Le nombre des travailleurs etrangers est a peu pres stable : 1,5 millions.

Beancoup d’entre eux sont arrives pendant les annees 60 pour occuper les postes generalement delaisses par les
Francais.12 , sous Peffet des nouvelles vagues d*immigration, Ils sont deux foix plus touches par le chomage
que les Francais. Sous I'influence de la crise economique, le modele traditionnel de 13 (emploi stable et a
plein temps) a eclate,

Il a laisse place a des formes plus souple et souvent moins stables d’activite. Un peu plus de 3 min de salaries
occupent des emplois de ce type. 14 et la reduction rapide des ouvriers sont les consequences spectaculaires des
mutations recentes de ’economie.

Les « cols bleus » {(manoeuvres et ouvriers de toutes qualifications), dont la croissance avait accompagne
15 , ont ete mis a "ecart par la troisieme revolution, celle de ’electronique. Les « cols blancs » (employes,
cadres et techniciens) ont pris la releve, avant d’etre menaces a leur tour par le chomage et la recomposition
professionnelle. L effectif des agriculteurs est inferieur a un million.

UTILISATION LE FRANCAIS

DEVOIR 4
Lisez le texte. Choisissez [a réponse (A, B, C ou D} qui correspond le mieux a chaque espace (16 - 30).

Le sport dans Ia vie francaise

Depuis la fin du XIXe siecle, le sport a conguis une place de plus en plus importante dans la vie francaise. La
France est Ie pays du cyclisme. Des l'apparition du «velo», 16 cyclistes passionnerent des foules. Le Tour de France,
17 par Henri Desgrages en 1903, cowru tous les ans an mois de juillet en une vingtaine d'etapes, reste la plus
importante et la plus celebre 18 internationale.

L'Automobile — Club de France, fonde en 1895, fut la premiere association dans le 19__ a s'occuper des
vehicules a moteur. Depuis lors, de nombreuses competitions opposent chaque annee, devant les foules passionnees, les
meilleurs coureurs internationaux: 24 heures de Mans, grand Prix de Pau, Rallye de Monte-Carlo, etc. Introduit en France
en 1890, Ie football est 20 le sport le plus populaire.

La Federation francaise de football organise chaque annee les Championnats de France et la Coupe de France,
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dont la finale se dispute au Parc des Princes en presence du President de la Republique. Le rugby, 21
le Sud-Quest, 22 sur I'ensemble du territoire.
Le basket-ball a conquis une place privilegice 23

gens. Le tennis a 24
, il faut signaler le developpement des «arts martiaux» comme le judo, le karate, I'aikodo.

pratique dans

les sports d'equipe pratigues en France par les jeunes
un developpement considerable depuis 1900. Si la boxe a beaucoup perdu de son 25

La France est un 26 privilegie aux sports de montagne. L'alpinisme y doit essor au club Alpin Francais. La
Federation francaise 27 assure de son cote Ie developpement des sports d'hiver, Qutre les sports athletiques comme
la natation et l'aviron, le yachting et la peche sous marine connaissent un 28 grandissant. Une Federation des sports
aeriens a ete 29 en 1944, Les Aero- Clubs permettent de 30 .
16. A match B rencontres C competitions D partie
17. A fonde B prepare C fait D ferme
18. A combat B epreuve C travail D association
19. A monde B club C secteur D salle
20. A surtout B partout C ici D la-bas
21. A organise B connu C devenu D cree
22. A entre B parmi C la-bas D partout
23, A etait Bne C celebree D connu
24. Aest B occupe C englobe D avait
25, A merite B prestige C groupe D equipe
26. A puissance B temps C pays D heure
27. Adeski B de patinage C dela natation D de tennis
28. A succes B resultat C evenement D progres
29. A commence B ne C consacre D cree
30. A s'interesser B pratiquer C participer D developee

DEVOIR S

Pour les questions a4 31 de 40 choisissez 1a reponse (A,B ou C) qui correspend le mieux a chaque

variante.

31. Je commence lire.

A A B De C dans

32, Moliére on trouve beaucoup d’esprit.

A Chez B Dans C En

33. Elleréve rencontrer un prince charmant

A de B a C -

34, Je me sers cet outil.

Aa B de C chez

35. Je me proméne forét.

A chez B en C dans

36. Ilva France.

A chez B a C dans

37. Ilestresté travailler A la bibliothéque. Il se prépare Pexamen,

A de/de B &/- C -/

38. Tous les chemins se croisent Paris.

A A B de C dans

39. La Seine impose Ia rue sa gaieté.

Aad B de C dans

40. 11 me reste faire ce devoir. Dés que j’aurai fini le faire, j*appellerai mon amie.

A de/de/~ B a/de/— C —fa/a
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DEVOIR 6
Pour les questions 4 41 de 50 choisissez la reponse (A,B ou C) qui correspond le mieux a chaque
variante.

41. Pour faire une pizza, il faut __ farine, __ fromage, _ sel.
A lalele
B une, un, un
C dela, du, du
42, Ellea ___ goit et elle s*habille trés bien.
A un
B du
C Ie
43, llva__ courses de chevaux, on le voit souvent ___ hippodrome.
A algar
B aux, au
C aux,al
44. Elle a pleuré de ___ joie.
A —
B Ia
C une
45. Le professeur explique un probleme  étudiants.
A Ales
B aux
C ar

46. Qu\'est-ce que vous prenez, Monsieur ? - Je prendrai ___ vin, une demi-bouteille de Bordeaux.
A de

B le
C du
47, Jevais ___ maison ___ bureau a pied.
A dela,au
B dudla
C dea
48. Notre professeur a ___ patience.
A une
B Ia
C dela
49, Comment étes-vous allé ___ aéroport __ hétel?
A del,arl
B dual
C del’,au
50. llamal __ dents.
A dles
B au

C aux
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